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FiIEICFEFERIERED - HEAK (1)
Room # % B OF¥ # % wmo® %
3 B | 9F7E | SWeE 8 i HHM7E | HH6HE # i HH7E | HH6E | # A
7AX 7RAX | # % = 7AX | 7TRAX | # % = 7K | 7AEX |[% 4Vt
Tl & L B 7,281 6,912 369 5.3 2,824 2,993 -169 -5.6 388 433 -45
X E E(e! 46 4 5 12.2 47 44 3 6.8 1022 107.3 -5.1
% A 10 3 7 233.3 10 3 7 2333 100.0 100.0 0.0
[ & 7 2 400 4 6 -2 -33.3 57.1 120.0 -62.9
" K 2 -6 -75.0 4 7 -3 -42.9 200.0 875 1125
TERE®XS 27 25 2 8.0 29 28 1 3.6 107.4 112.0 -4.6
# z (e} 504 576 -72 -12.5 446 515 -69 -134 885 89.4 -0.9
XBZERES
7 1T 324 374 -50 -134 300 356 -56 -15.7 92.6 95.2 -2.6
1% = 145 163 -18 -11.0 117 129 -12 -93 80.7 79.1 16
& bC] 24 32 -8 -25.0 22 25 -3 -12.0 91.7 78.1 13.6
= " 1 7 4 57.1 7 5 2 400 63.6 714 -7.8
% & E(t) 4,788 4,361 427 9.8 1,736 1,928 -192 -10.0 36.3 442 -7.9
72 A =& 872 660 212 321 154 355 -201 -56.6 17.7 53.8 -36.1
&Y B & 1,159 1,067 92 8.6 7 107 -36 -33.6 6.1 10.0 -3.9
k¥ B A B 2,757 2,634 123 47 1511 1,466 45 3.1 548 55.7 -0.9
bl BE L 849 810 39 48 253 170 83 488 29.8 21.0 838
H # 799 765 34 44 217 134 83 61.9 272 175 9.7
# B 23 33 -10 -30.3 24 21 3 14.3 104.3 63.6 407
# = 23 10 13 1300 12 12 0 0.0 52.2 1200 -67.8
& B 3 1 2 200.0 1 -1|  -100.0 0.0 100.0| -100.0
HoBAFE
= =3 1 1 0 0.0 2 -2|  -1000 0.0 2000/ -200.0
I3} & E(e) 125 112 13 11.6 123 93 30 323 98.4 83.0 15.4
i 1% 6 1 5 500.0 5 1 4 400.0 83.3 100.0 -16.7
FREbDLED 46 35 1 314 36 25 1 440 783 714 6.9
NRHLED 16 7 9 128.6 16 6 10 166.7 100.0 85.7 143
FelAtcaml | 7 1 -4 -36.4 8 9 -1 -11.1 114.3 81.8 325
HRERE 2 1 1 100.0 2 1 1 100.0 100.0 100.0 0.0
EAE 3 -2 48 57 -9 -15.8 56 51 5 98 116.7 895 272
Z DD FEIL 969 1,012 -43 -4.2 219 243 -24 -9.9 22.6 24.0 -14
& A BRI R 139 103 36 35.0 39 41 -2 -4.9 28.1 398 -11.7
DNERTHE 8 13 -5 -385 14 12 2 16.7 175.0 92.3 82.7
T EBE & A 127 128 -1 -0.8 27 40 -13 -325 213 313 -10.0
W OE R 3 2 1 50.0 -2|  -100.0 0.0 1000/ -100.0
i 3 5 -2 -40.0 3 100.0 200.0 60.0 1400
& & 6 6 0 0.0 -1 -11.1 1333 150.0 -16.7
=Y OB & 617 686 -69 -10.1 75 78 -3 -38 12.2 114 0.8
z O 66 69 -3 -43 50 58 -8 -13.8 75.8 84.1 -8.3




[(EEfE]

TR R - wERK (2)

3 & | $M7E | SH6E # SH7E | HH6E #® R SH7E | HH6E -
7AX | 7TAX | A B b 7AX | 7TAX | A B b 7AX | 7TABX | A B %

Tl & L B 1,704 1,820 -116 -6.4 1,559 1,587 -28 -1.8 145 233 -88| -37.8
X E E(e! 44 36 8 222 42 32 10 313 2 4 -2|  -500

4 A 10 2 8| 4000 10 2 8| 4000

[ & 6 0 0.0 6 6 0 0.0

" K 2 -4  -66.7 1 6 -5/ -833 1 1 —

TERE®XS 26 22 4 18.2 25 18 7 389 1 4 -3|  -750
# =] E(t) 483 547 -64| -117 461 521 -60| -115 22 26 -4|  -154

XBZERES

7 17 337 393 -56| -142 323 380 -57| -150 14 13 1 7.7

% = 120 127 -7 -55 116 119 -3 -25 4 8 -4|  -500

Z H 17 24 -7|  -292 17 22 -5/ -227 2 -2| -100.0

= 8 9 3 6| 2000 5 5 — 4 3 1 333
% & E(t) 807 859 -52 -6.1 7M1 717 -6 -0.8 96 142 -46| -324

# A =B 54 59 -5 -85 47 53 -6| -11.3 7 6 1 16.7

&Y B & 31 47 -16| -340 17 24 -7|  -292 14 23 -9|  -39.1

k¥ B A B 722 753 -31 -4.1 647 640 7 1.1 75 113 -38| -336
1 BE 1L 126 138 -12 -8.7 118 125 -7 -5.6 8 13 -5| -385

H # 97 99 -2 -20 89 87 2 23 8 12 -4| -333

# B 23 19 4 21.1 23 19 4 211

# & 6 16 -10| -625 6 15 -9|  -600 1 -1] -100.0

& B 2 -2| -100.0 2 -2| -100.0

HoBAFE

= =2 2 -2| -100.0 2 -2| -100.0
I3} & E(e) 88 70 18 257 80 58 22 379 8 12 -4/ -333

i 1% 4 1 3| 3000 4 1 3| 3000

FREbDLED 33 23 10 435 33 21 12 57.1 2 -2| -100.0

NRHLED 7 5 2 400 7 3 4| 1333 2 -2/ -100.0

blvE># 2 4 -2|  -500 2 4 -2|  -50.0

HRERE 2 1 1| 1000 2 1 1| 1000

EAE 3 -2 40 36 4 1.1 32 28 4 14.3 8 8 0 0.0
Z DD FEIL 156 170 -14 -8.2 147 134 13 9.7 9 36 -27|  -750

SH B M 39 40 -1 -25 34 28 6 214 5 12 -7/ -583

DNERTHE 11 10 1 10.0 11 10 1 10.0

T EBE & A 13 26 -13|  -50.0 12 13 -1 -1.1 1 13 -12|  -923

W OE R 1 -1] -100.0 1 -1| -100.0

BIRFSE 5 3 2 66.7 5 2 3| 1500 1 -1] -100.0

& & 4 7 -3|  -429 3 5 -2|  -400 1 2 -1]  -500

=Y OB & 40 40 0 0.0 39 37 2 54 1 3 -2|  -66.7

z O 44 43 1 23 43 38 5 13.2 1 5 -4|  -800




